July 25, 2016 Kearney, Nebraska

Joe Pepplitsch City Manager City of Lexington P.O. Box 70 Lexington, NE 68850

Re:

Ontario Street Paving Improvements

Lexington, Nebraska

Project No. 127-A1-109-16

Dear Joe,

Attached herewith is the Engineer's Opinion of Probable Construction Cost for Ontario Street Paving Improvements. We have included the option for Portland Concrete or Asphaltic Concrete paving. We will proceed with the preparation of Plans and Specifications for the referenced project for fall construction.

The Engineer's Opinion of Probable Construction Cost varies from \$67,575 to \$79,841.

Should you have any questions regarding this project, please do not hesitate to contact us.

Respectfully submitted, MILLER & ASSOCIATES CONSULTING ENGINEERS, P.C.

Dana Daniels

Engineer's Opinion of Probable Construction Cost Ontario Street Paving Improvements

Lexington, Nebraska Project No. 127-A1-109-16

CONCRETE PAVEMENT									
No.	Description	Quantity	Unit		Unit Price	T	otal Amount		
1	Mobilization	1	L.S.	65 (1) 180 (1)		\$	4,000.00		
2	Common Earthwork, Excavation (E.Q.)	600	C.Y.	\$	15.00	\$	9,000.00		
3	Overexcavate and Replacement of Unsuitable Base Material (if required)	20	C.Y.	\$	20.00	\$	400.00		
4	Remove & Haul Concrete Pavement	50	S.Y.	\$	10.00	\$	500.00		
5	Construct P.C. Concrete Pavement 6" Thick, Type 47B Modified	1280	S.Y.	\$	47.00	\$	60,160.00		
6	Construct 6" Thick Alley Return	36	S.Y.	\$	47.00	\$	1,692.00		
7	Construct 5" Thick Concrete Sidewalk	150	S.F.	\$	7.00	\$	1,050.00		
8	Remove & Replace Curb & Gutter	30	L.F.	\$	40.00	\$	1,200.00		
9	Furnish, Install, Maintain & Remove Erosion Control								
	a. Coir Wattle	30	L.F.	\$	10.00	\$	300.00		
10	Drill & Grout Tie Bars	230	Each	\$	7.00	\$	1,610.00		
11	Furnish, Install, Maintain & Remove Traffic Control	1	L.S.			\$	2,000.00		
	\$	81,912.00							

ASPHALT PAVEMENT										
No.	Description	Quantity	Unit		Unit Price	7	otal Amount			
1	Mobilization	1	L.S.			\$	6,000.00			
2	Common Earthwork, Excavation (E.Q.)	600	C.Y.	\$	15.00	\$	9,000.00			
3	Overexcavate and Replacement of Unsuitable Base Material (if required)	20	C.Y.	\$	20.00	\$	400.00			
4	Remove & Haul Concrete Pavement	50	S.Y.	\$	10.00	\$	500.00			
5	Construct 6" Thick Asphaltic Concrete, Type SPR	460	Tons	\$	100.00	\$	46,000.00			
6	Construct 6" Thick Alley Return	36	S.Y.	\$	47.00	\$	1,692.00			
7	Construct 5" Thick Concrete Sidewalk	150	S.F.	\$	7.00	\$	1,050.00			
8	Remove & Replace Curb & Gutter	30	L.F.	\$	40.00	\$	1,200.00			
9	Furnish, Install, Maintain & Remove Erosion Control									
	a. Coir Wattle	30	L.F.	\$	10.00	\$	300.00			
10	Furnish, Install, Maintain & Remove Traffic Control	1	L.S.			\$	2,000.00			
TOTAL CONSTRUCTION COST							68,142.00			

Prepared by: Miller & Associates, Consulting Engineers, P.C., 7-25-2016

Paving District 16-01 North Ontario Street, 9th to 10th

Project Area



Affected Properties



ORDINANCE NO. 2376

AN ORDINANCE OF THE CITY OF LEXINGTON, NEBRASKA CREATING STREET IMPROVEMENT PROJECT NO. 2016-1; DEFINING THE BOUNDARIES AND LIMITS THEREOF; PROVIDING FOR PAVING, GRADING, CURBING, GUTTERING, AND OTHER NECESSARY AND INCIDENTAL WORK; PROVIDING FOR THE PAYMENT OF IMPROVEMENTS AND OTHER INCIDENTAL EXPENSES BY THE ASSESSMENT OF THE COSTS OF SUCH IMPROVEMENTS AGAINST THE PROPERTY SPECIALLY BENEFITED THEREBY; PROVIDING FOR PUBLICATION OF THIS ORDINANCE; AND RELATED MATTERS.

BE IT ORDAINED BY THE MAYOR AND CITY COUNCIL OF THE CITY OF LEXINGTON, NEBRASKA.

- **Section 1.** The Mayor and the Council of the City of Lexington, Nebraska (the "City") hereby find and determine as follows:
- (a) Pursuant to Section 18-2001 *et. seq*, Reissue Revised Statutes of Nebraska, as amended (the "Act"), the City is authorized to grade, curb, gutter, and pave any unpaved street or alley that intersects a paved street for a distance of not to exceed one block on either side of such paved street; and
- **(b)** W 10th Street is a paved street and W 9th Street is a paved street and N Ontario St. is unpaved and intersects said streets and the Act permits the City to pave said portion of N Ontario St. for a distance of one block.
- (c) It is necessary, desirable, advisable, and in the best interest of the City to grade, curb, gutter, and pave N Ontario Street from W 10th Street to W 9th Street under and pursuant to said Act, such work to be known as Street Improvement Project No. 2016-1 of the City of Lexington, Nebraska (the "Project").
- Section 2. The Project is hereby authorized to be constructed pursuant to the Act and shall include the grading, curbing, guttering, and paving of N Ontario Street in the City from W 10th Street to W 9th Street, including all incidental drainage improvements or handicap ramps.
- **Section 3.** The property to be included in this Project consists of the area described in the attached Exhibit "A."
- **Section 4.** The City's engineer, Miller & Associates Consulting Engineers, P.C., Kearney, Nebraska (the "Engineer") has been engaged to prepare detailed plans and specifications for the Project. Prior to the letting of bids for the construction of the Project, the Engineer shall submit the plans and specifications for an estimate of the costs of the Project to the Mayor and Council for approval.
- **Section 5.** The City shall advertise for bids for the construction of the improvements to be made pursuant to the Project in accordance with all applicable provisions of the law. Upon acceptance of any bid therefore, the City Manager is authorized to enter into a contract on behalf of the City for such work, and such contract shall be executed by the City Manager. The City Council shall have and hereby reserves the right to reject any and all bids received.
- **Section 6.** The costs of the Project shall be paid for at public cost, but special assessments on the properties especially benefited thereby shall be levied to reimburse the City to the extent provided

by law. Such assessments to be assessed against the lots and tracts of land adjacent to or abutting the portion of the streets thus improved, or which may be specially benefited by such improvements.

- **Section 7.** If any section or other part of this Ordinance is for any reason held invalid, the invalidity thereof shall not affect the validity of any other provision of this Ordinance.
- **Section 8.** All ordinances, resolutions, or orders, or parts thereof in conflict with the provisions in this Ordinance, are to the extent of such conflict or conflicts hereby repealed.
- **Section 9.** This Ordinance shall be published in the manner and form provided by law and shall take effect and be in full force and after its due passage, approval and publication as provided by law.

PASSED AND APPROVED this 24 th day of May 2016.

CITY OF LEXINGTON, NEBRASKA

ATTEST:

THINITINGITY Clerk

By:

Mayor